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1oAY 303,341 301,007 2,334
1. AR A A o] 1 =) 10,762 0 10,762
1.HHAg o]l 10,762 0 10,762
17124 AN A A = 10,762 0 10,762
1ozt 23 (7] 2) 7,000 0 7,000 (3 25) 2] 9 0 FRA G w2 7,000,000
7,000,000 *1 3=
A&z 9Z=)ok7FaFZ= A 7 A 1] <)
2 AAYFEABZF () Z) 3,762 0 3,762 (3 L__ZT) FRYSHE AR - 2,000€) 3,762,000
x1,8813]=
2. A W} 1S 22| A 0] A 5= 292,579 301,007 -8,428
1. AU EH AR TFY 292,579 301,007 -8,428
1. WS EHEIA A = 292,579 301,007 -8,428
1.3t Fn A+ 226,314 225,170 1,144| 7] 3] 1,144,000 * 13 = 1,144,000
2. BA AN A Y F 56,291 64,645 -8,354 (8 A _25) S g A ARl dn) 9,462,000
9,462,000 * 11 =
QAAE FolX ) -5 ol7] %] &)
A =B (Tt ) =Tt 7] A ~25.900.000
-25,900,0009 * 11 =
(AR H_25F) DA SELG A 48] 1,560,000 1.560.000
9 o« 13 = R
(B _2F) AL F (AU ALF ¢ 190 000
120,000 = 1l = '
(A HFH_25F) st EF (A IHAYH - 148 000
148,000 * 13 = '
(AEA 253 A2 19U S EETAA A 1350000
1,350,000 * 1x = T
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(A EA_2F)Z2 19054 s 9 000.000
2,000,0009 * 13 = AR
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_ FEA 92 w3 (59 : 9]
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W=
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© 30,0009 x4 '
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1,000,000 x2-9=
2.8 37 9| A e 1,500 1,500 0
1,374 %= 1,500 1,500 0
1.9%k 1,500 1,500 0
3. WS Az} 2 1,324 662 662
1. [=a]gn A ¢) 1,324 662 662
1. [=r 3] ARE] A u e o) g Ak A9 1,324 662 662
1.gAA L= 1,324 662 662 (A 25 wAFAA A (FAR) - 662,000
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2. A WA T Y 1,280 2,360|  -1,080
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3. AbThE] 8 A = 4,000 4,000 0
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2. g 17 0 17|91 1 17,0009 13]= 17,000
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3. 94 S 0 800 -800
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1ageadn 1,560 0 1,560 gﬁjﬁ;ﬁ)i PRESAZIARA 156,000 1,560,000
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1. g RkE8H 3,000 3,000 0
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